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YCTHbLIUN CYeT:

Bbiqyucnume: 23, 4% -23
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UTOObI YMHOXUTE OQHOYNEH
®  Ha MHOrou4neH,

g HY>KHO
VYMHOXWUTb 3TOT OAHOYNEH
Ha KaXXablX YeH
MHOrou4sieHa u

NOJ1IYHYEHHbIE PEe3yJibTaThbl
CJI1OXKUTb




2a + 5B
3aB — 4a+ 6C
Omn + 6k



3XY?(2y-X+2x2)
-3Xy5x2(3X-2X2-4XYy)
-a(-1,8a2 b2 -2a2 b)



CamocTosiTenbHas padora.

x> (6x%—4x +3) = 48x>—32x*+24x3
5a%(2a%+3a—-7)= 10a*+ 15a% - 353’
3y(9y3 —4y?—6)= 27y*—12y> —18y

6b*(6b% + 4b —5) = 36b° + 24b° - 30b*



12 — 16 bannoB — «3»
17 — 20 6annosB — «4»
21 — 26 bannoB — «5»



OoM. 3agaHue Ne26.2 (B,r),
N226.3(a,0,B)

Ne26.5(a)



BoccTaHOBUTL paBEeHCTBO:

a) 6x2—21x = (2x +

I

) 10y3 + 5xy? = ( + )




Cnacunbo 3a
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